
KDL-32/40EX40B Series(AEP/UK)

SEC 5. EXPLODED VIEWS

• Items with no part number and no description are not stocked because they are seldom required for routine service.

• The construction parts of an assembled part are indicated with a collation number in the remark colum.

• Items marked " * " are not stocked since they are seldom required for routine service. Some delay should be anti



KDL-32/40EX40B Series(AEP/UK)

5-1-1.  CHASSIS-1

5-1 .  KDL - 3 2 E X 4 0 B / 4 3 B

REF. No. PART No. DE

1  1-837-486-11 PO

 1-837-455-11 PO

2  4-167-326-01 BR

3 4-166-124-11 CO

4  4-166-777-11 CO

5  1-487-803-11 SW

6  4-158-349-01 NE

7  X-2546-541-2 CO

8 X-2546-980-1 BASE (

9 X-2548-084-1 REAR

10  3-106-546-51 CO

�

�

�

�

�

��

��

�

�



KDL-32/40EX40B Series(AEP/UK)

5-1-2.  CHASSIS-2

5-1 .  KDL - 3 2 E X 4 0 B / 4 3 B

REF. No. PART No. DE

11  X-2548-085-1 BEZ

12  A-1753-636-A HL

13 1-811-059-11 LC

14 A-1772-836-A BA

A-1772-837-A BA

15 8-597-719-00 UN

8-597-733-00 UN

16 4-166-268-02 BR

17  1-857-634-11 INV

18  A-1769-951-B BD

 A-1769-952-B BD

19  A-1743-521-A H1

20  1-474-209-11 ST

21  1-858-364-22 LO

22 X-2547-479-1 BR

23 X-2547-477-1 BR

24  4-166-118-11 SU

25  1-857-636-11 TC

��

��

��

��
��

��

��

��

��

��

��

��

��

��

��



KDL-32/40EX40B Series(AEP/UK)

5-1-3. SCREWS

5-1 .  KDL - 3 2 E X 4 0 B / 4 3 B

PART No. DESCRIPTION

2-580-640-01 SCREW, +BVTP 4X16 TYPE2 IT-3

2-580-595-01 SCREW, +PSW M3X12

7-685-648-79 SCREW +BVTP 3X12 TYPE2 IT-3

2-580-608-01 SCREW, +PSW M5X16

2-580-592-01 SCREW, +PSW M3X8

4-159-298-01 SCREW, +PSW M4X10



KDL-32/40EX40B Series(AEP/UK)

5-2-1.  CHASSIS-1

5-2 .  KDL - 4 0 E X 4 0 B / 4 3 B

REF. No. PART No. DE

1  1-837-486-11 PO

 1-837-455-11 PO

2  4-167-326-01 BR

3 4-166-123-11 CO

4  4-166-777-11 CO

5  1-487-803-11 SW

6  4-158-350-01 NE

7  X-2546-541-2 CO

8  X-2541-846-1 BASE

9 X-2548-073-1 REAR

10  3-106-546-51 CO

�

�

�

�

�

����

�

�



KDL-32/40EX40B Series(AEP/UK)

5-2-2.  CHASSIS-2

5-2 .  KDL - 4 0 E X 4 0 B / 4 3 B

REF. No. PART No. DE

11  X-2548-083-1 BEZ

12  A-1753-636-A HL

13 1-811-060-13 LC

14 A-1772-836-A BA

A-1772-837-A BA

15 8-597-719-00 UN

8-597-733-00 UN

16 4-166-268-02 BR

17  1-857-640-11 INV

18  A-1769-951-B BD

 A-1769-952-B BD

19  A-1743-521-A H1

20  1-474-210-11 ST

21  1-858-364-22 LO

22 X-2547-483-1 BR

23 X-2547-481-1 BR

24  4-166-118-01 SU

25  1-857-639-11 TC

��

��
��

��

��

��

��

��

��

��

��

��

��
��

��



KDL-32/40EX40B Series(AEP/UK)

5-2-3. SCREWS

5-2 .  KDL - 4 0 E X 4 0 B / 4 3 B

PART No. DESCRIPTION

2-580-640-01 SCREW, +BVTP 4X16 TYPE2 IT-3

7-685-648-79 SCREW +BVTP 3X12 TYPE2 IT-3

2-580-608-01 SCREW, +PSW M5X16

2-580-592-01 SCREW, +PSW M3X8

4-159-298-01 SCREW, +PSW M4X10



KDL-32/40EX40B Series(AEP/UK)

5- 3 - 1.  ACCESSORI ES and  CONNECTORS

32 INCHES

 1-837-707-11 LEAD WIRE WITH CONNECTOR(LVDS) (CN2600-TCON)

 1-837-802-11 CORD WITH CONNECTOR(HDMI CABLE) (CN2262-CN701)

 1-837-820-11 LEAD WIRE WITH CONNECTOR(ETHER) (CN005-CN1201)

 1-910-100-64 HARNESS ASSY (CN2602,CN4300-CN002,SW,SP,CN008)

 1-910-100-65 CONNECTOR ASSY 15P (CN6201-CN3800,CN2561)

 1-910-100-66 CONNECTOR ASSY 14P (CN6202-INV)

 1-910-100-67 CONNECTOR ASSY 4P (CN6203-CN002)

 1-910-100-68 CONNECTOR ASSY 6P (CN2403-CN009)

 1-910-100-69 HARNESS ASSY (BD) (CN003,CN004-CN601,CN1503)

 1-910-100-70 CONNECTOR ASSY 12P (CN001-CN303)

 1-910-100-71 FFC CONNECTOR ASSY 5P (CN006-CN1508)

40 INCHES

 1-837-708-11 FLEXIBLE FLAT CABLE (CN2600-TCON)

 1-837-804-11 CORD WITH CONNECTOR(HDMI CABLE) (CN2262-CN701)

 1-837-820-11 LEAD WIRE WITH CONNECTOR(ETHER) (CN005-CN1201)

5-3. OTHER PARTS



KDL-32/40EX40B Series(AEP/UK)

 1-910-100-69 HARNESS ASSY (BD) (CN003,CN004-CN601,CN1503)

 1-910-100-70 CONNECTOR ASSY 12P (CN001-CN303)

 1-910-100-71 FFC CONNECTOR ASSY 5P (CN006-CN1508)

 1-910-100-72 HARNESS ASSY (CN2602,CN4300-CN002,SW,SP,CN008)

 1-910-100-73 CONNECTOR ASSY 15P (CN6401-CN3800,CN2561)

 1-910-100-74 CONNECTOR ASSY 14P (CN6202-INV)

 1-910-100-75 CONNECTOR ASSY 4P (CN6203-CN002)

 1-910-100-76 CONNECTOR ASSY 6P (CN2403-CN009)

5- 3 - 2.  INSTRUCT I ON MANUALS

*4-180-167-21 INSTRUCTION MANUAL     (40B)

*4-180-167-31 INSTRUCTION MANUAL     (40B)

*4-180-167-41 INSTRUCTION MANUAL     (40B)

*4-180-168-11 INSTRUCTION MANUAL     (43B)

5- 3 - 3.  REMOT E COMMANDER

 1-487-766-11 REMOTE COMMANDER (RM-ED029)



KDL-32/40EX40B Series(AEP/UK)

5- 3 - 4.  MI SCELLANEOUS

 1-822-482-11 HDMI CONNECTOR (REAR)

 1-822-484-11 HDMI CONNECTOR (SIDE)

 1-822-525-21 OPTICAL OUT CONNECTOR

 1-821-827-21 D SUB CONNECTOR

 1-821-868-11 ETHERNET CONNECTOR(8P)

 1-821-834-12 USB CONNECTOR

 1-822-579-31 CARD CONNECTOR (PCMCIA CARD)

 1-822-580-41 CONNECTOR DUAL SCART

 1-822-581-13 MULTIPLE PHONO JACK 4P

 1-842-010-11 JACK

 1-822-524-21 PHONO JACK 2P

 1-842-096-11 PHONO JACK 5P



KDL-32/40EX40B Series(AEP/UK)

END

9-888-318-02

Sony Corporation

Sony UK

Service Promotions Dept.


